

State of West Virginia Solicitation Response

Proc Folder: 1228816

Solicitation Description: Addendum 2: 09-23-B144 Structural Steel for District 9

Proc Type: Agency Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2023-06-13 14:30
 SR 0803 ESR06132300000006294
 1

VENDOR

000000182029

FORM TECH CONCRETE FORMS INC

Solicitation Number: ARFQ 0803 DOT2300000120

Total Bid: 22596.29999999999927240423858 Response Date: 2023-06-13 Response Time: 07:44:44

Comments:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-414-7105 amber.j.heath@wv.gov

Vendor Signature X

DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Jun 13, 2023
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

FEIN#

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Angle, 3"x3"x1/2" - 20' long	1880.000	0 LB	0.930000	1748.40

Comm Code	Manufacturer	Specification	Model #	
30101504				

Commodity Line Comments:

Extended Description:

Angle, 3"x3"x1/2" - 20' long

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Channel, C9x1/2"x20'	4000.0000) LB	1.290000	5160.00

Comm Code	Manufacturer	Specification	Model #	
30101804				

Commodity Line Comments:

Extended Description:

Channel, C9x1/2"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Flat, 8"x1/2"x20'	2720.0000) LB	0.930000	2529.60

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 8"x1/2"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Flat, 10"x1/2"x20'	3400.0000) LB	0.930000	3162.00

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 10"x1/2"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Flat, 16"x1/2"x20'	5446.000	0 LB	1.050000	5718.30

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 16"x1/2"x20'

Date Printed: Jun 13, 2023 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Angle, 4"x4"x1/2"x20'	2560.000) LB	0.930000	2380.80

Comm Code	Manufacturer	Specification	Model #	
30101504				

Commodity Line Comments:

Extended Description:

Angle, 4"x4"x1/2"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Flat, 8"x3/8"x20'	2040.0000) LB	0.930000	1897.20

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 8"x3/8"x20'

 Date Printed:
 Jun 13, 2023
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

Exhibit A - Pricing Page FORMTECH 09-23-B144 Structual Steel

Item Number	Quantity	Unit of Measure	Description	Unit Price	Extended Amount
1	1880	Pounds	Angle, 3"x3"x1/2"x20' (10 pieces)	0.93	\$ 1,748.40
2	2040	Pounds	Flat, 8"x3/8"x20' (10 pieces)	0.93	\$ 1,897.20
3	4000	Pounds	Channel, C9x1/2"x20' (10 pieces)	1.29	\$ 5,160.00
4	2720	Pounds	Flat, 8"x1/2"x20' (10 pieces)	0.93	\$ 2,529.60
5	3400	Pounds	Flat, 10"x1/2"x20' (10 pieces)	0.93	\$ 3,162.00
6	5446	Pounds	Flat, 16"x1/2"x20' (10 pieces)	1.05	\$ 5,718.30
7	2560	Pounds	Angle, 4"x4"x1/2"x20' (10 pieces)	0.93	\$ 2,380.80
					TOTAL
					\$ 22,596.30



State of West Virginia Agency Request for Quote Construction

Proc Folder: 1228816

Doc Description: Addendum 1: 09-23-B144 Structural Steel for District 9

Reason for Modification:

Addendum 1

Proc Type: Agency Purchase Order

Date Issued Solicitation Closes Solicitation No Version

BID RECEIVING LOCATION

BUDGET & PROCUREMENT DIVISION OF HIGHWAYS

BLDG 5, RM A-317

1900 KANAWHA BLVD E

CHARLESTON WV 25305

US

VENDOR

Vendor Customer Code:

Vendor Name: Formtech Concrete Forms,Inc.

Address: 161

Street: Industrial Rd

City: Saint Albans

State: WV Country: USA Zip: 25177

Principal Contact: Gary Jividen

Vendor Contact Phone: (304)722-6804 Extension:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-414-7105

amber.j.heath@wv.gov

Vendor Signature X Jary Jividen

FEIN# 38-3179533

DATE 6-13-23

 Date Printed:
 Jun 5, 2023
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION

Addendum 1 is issued for the following reasons:

1. To attach the vendor questions and responses

No other changes

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RE)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Angle, 3"x3"x1/2" - 20' long	1880.00000	LB	\$0.93	\$1,748.40

Comm Code	Manufacturer	Specification	Model #	
30101504				

Extended Description:

Angle, 3"x3"x1/2" - 20' long

INVOICE TO		SHIP TO
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWAYS
DISTRICT NINE		DISTRICT NINE - STORAGE LOT
146 STONEHOUSE RD		331 BRUSH RD
LEWISBURG	WV	LEWISBURG WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Channel, C9x1/2"x20'	4000.00000	LB	\$1.29	\$5,160.00

Comm Code	Manufacturer	Specification	Model #	
30101804				

Extended Description:

Channel, C9x1/2"x20'

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RE)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
110		HS	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Flat, 8"x1/2"x20'	2720.00000	LB	\$0.93	\$2,529.60

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 8"x1/2"x20'

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RE)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Flat, 10"x1/2"x20'	3400.00000	LB	\$0.93	\$3,162.00

Comm Code	Manufacturer	Specification	Model #	
30263600				

Extended Description:

Flat, 10"x1/2"x20'

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	S	DIVISION OF HIGHWAYS		
DISTRICT NINE		DISTRICT NINE - STORA LOT	GE	
146 STONEHOUSE RD		331 BRUSH RD		
LEWISBURG	WV	LEWISBURG	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Flat, 16"x1/2"x20'	5446.00000	LB	\$1.05	\$5,718.30

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 16"x1/2"x20'

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS		
DISTRICT NINE		DISTRICT NINE - STORAGE LOT		
146 STONEHOUSE RD)	331 BRUSH RD		
LEWISBURG	WV	LEWISBURG WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	Angle, 4"x4"x1/2"x20'	2560.00000	LB	\$0.93	\$2,380.80

Comm Code	Manufacturer	Specification	Model #	
30101504				

Extended Description:

Angle, 4"x4"x1/2"x20'

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RD		331 BRUSH RD	
LEWISBURG	WV	LEWISBURG	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Flat, 8"x3/8"x20'	2040.00000	LB	\$0.93	\$1,897.20

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 8"x3/8"x20'

SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	Technical Questions Due at 10:00am ET	2023-06-07

 Date Printed:
 Jun 5, 2023
 Page 5
 FORM ID: WV-PRC-ARFQ-002 2020/05

SOLICITATION NUMBER: Addendum Number:

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

Applicab	le A	ddendum Category:
]]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[]	Other
Descripti	ion o	of Modification to Solicitation:

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ATTACHMENT A

ARFQ DOT2300000120 – Structural Steel for D9

Question 1: Referring to the document attached, If you can provide more details on Item -2 from the list please. (Channel, C9X1/2")

OR any alternate sizes you may prefer would help as well.

Response 1: This item is C9x1/2" otherwise known as C9x20, ½" being the web thickness, 20lbs per foot. Each piece should be 20 feet long. This steel must be AASHTO M270 Grade 50 (ASTM A709 Grade 50).

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.:

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:	
(Check the box next to each addendate)	ım received)
I further understand that any verbal r discussion held between Vendor's re	[] Addendum No. 6 [] Addendum No. 7 [] Addendum No. 8 [] Addendum No. 9 [] Addendum No. 10 the receipt of addenda may be cause for rejection of this bid. representation made or assumed to be made during any oral expresentatives and any state personnel is not binding. Only diadded to the specifications by an official addendum is
Company Gary Jividen Authorized Signature	
Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



State of West Virginia Agency Request for Quote Construction

Proc Folder: 1228816

Doc Description: Addendum 1: 09-23-B144 Structural Steel for District 9

Reason for Modification:

Addendum 1

Proc Type: Agency Purchase Order

 Date Issued
 Solicitation Closes
 Solicitation No
 Version

 2023-06-05
 2023-06-13
 14:30
 ARFQ 0803 DOT2300000120
 2

BID RECEIVING LOCATION

BUDGET & PROCUREMENT DIVISION OF HIGHWAYS

BLDG 5, RM A-317

1900 KANAWHA BLVD E

CHARLESTON WV 25305

US

VENDOR

Vendor Customer Code:

Vendor Name: Formtech Concrete Forms, Inc.

Address: 161

Street: Industrial Rd

City: Saint Albans

State: WV Country: USA Zip: 25177

Principal Contact: Gary Jividen

Vendor Contact Phone: (304)722-6804 Extension:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-414-7105

amber.j.heath@wv.gov

Vendor Signature X

Gary Jwiden

FEIN# 38-3179533

DATE 6-13-23

 Date Printed:
 Jun 5, 2023
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION

Addendum 1 is issued for the following reasons:

1. To attach the vendor questions and responses

No other changes

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RE)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Angle, 3"x3"x1/2" - 20' long	1880.00000	LB	\$0.93	\$ 1,748.40

Comm Code	Manufacturer	Specification	Model #	
30101504				

Extended Description:

Angle, 3"x3"x1/2" - 20' long

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RD		331 BRUSH RD	
LEWISBURG	WV	LEWISBURG	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Channel, C9x1/2"x20'	4000.00000	LB	\$1.29	\$5,160.00

Comm Code	Manufacturer	Specification	Model #	
30101804				

Extended Description:

Channel, C9x1/2"x20'

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RE)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
119		HS	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Flat, 8"x1/2"x20'	2720.00000	LB	\$0.93	\$2,529.60

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 8"x1/2"x20'

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT NINE		DISTRICT NINE - STORAGE LOT	
146 STONEHOUSE RD)	331 BRUSH RD	
LEWISBURG	WV	LEWISBURG WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Flat, 10"x1/2"x20'	3400.00000	LB	\$0.93	\$ 3,162.00

Comm Code	Manufacturer	Specification	Model #	
30263600				

Extended Description:

Flat, 10"x1/2"x20'

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAY	S	DIVISION OF HIGHWAYS		
DISTRICT NINE		DISTRICT NINE - STORA LOT	GE	
146 STONEHOUSE RD		331 BRUSH RD		
LEWISBURG	WV	LEWISBURG	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Flat, 16"x1/2"x20'	5446.00000	LB	\$1.05	\$5,718.30

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 16"x1/2"x20'

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS		
DISTRICT NINE		DISTRICT NINE - STORAGE LOT		
146 STONEHOUSE RD)	331 BRUSH RD		
LEWISBURG	WV	LEWISBURG WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	Angle, 4"x4"x1/2"x20'	2560.00000	LB	\$0.93	2380.80

Comm Code	Manufacturer	Specification	Model #	
30101504				

Extended Description:

Angle, 4"x4"x1/2"x20'

INVOICE TO		SHIP TO		
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS		
DISTRICT NINE		DISTRICT NINE - STORAGE LOT		
146 STONEHOUSE RD		331 BRUSH RD		
LEWISBURG	WV	LEWISBURG WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Flat, 8"x3/8"x20'	2040.00000	LB	\$0.93	\$1,897.20

Comm Code	Manufacturer	Specification	Model #	
30263600				

Flat, 8"x3/8"x20'

SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	Technical Questions Due at 10:00am ET	2023-06-07

 Date Printed:
 Jun 5, 2023
 Page 5
 FORM ID: WV-PRC-ARFQ-002 2020/05

	Document Phase	Document Description	Page 6
DOT2300000120	Final	Addendum 1: 09-23-B144 Structural Steel for District 9	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 5/13/2022

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

this certificate does not comer rights to the certificate holder in fled of such endorsement(s).						
PRODUCER		CONTACT NAME:				
Hylant - Ann Arbor 24 Frank Lloyd Wright Dr, Ste J4	100	PHONE (A/C, No, Ext): 734-741-0044	1-1850			
Ann Arbor MI 48105	100	E-MAIL ADDRESS: AnnArbor-office@hylant.com				
		INSURER(S) AFFORDING COVERAGE		NAIC#		
	License#: 23894	INSURER A: Transportation Insurance Co		20494		
INSURED	FORMTEC-01	INSURER B: Continental Insurance Company		35289		
Form Tech Concrete Forms, Inc. 975 Ladd Road		INSURER c : Continental Casualty Company	20443			
Walled Lake MI 48390		INSURER D:				
		INSURER E :				
		INSURER F:				
COVERAGES	CERTIFICATE NUMBER: 2030366793	REVISION NUM	/IBER:			
THIS IS TO CERTIEV THAT THE POI	ICIES OF INSURANCE LISTED BELOW HAY	/E REEN ISSUED TO THE INSURED NAMED AROV	E FOR THE POLI	CV PERIOD		

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

INSR ADDLISUBR POLICY EFF POLICY EXP									
INSR LTR				WVD	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	s
Α	Χ	COMMERCIAL GENERAL LIABILITY			6080742228	5/15/2022	5/15/2023	EACH OCCURRENCE	\$ 1,000,000
		CLAIMS-MADE X OCCUR						DAMAGE TO RENTED PREMISES (Ea occurrence)	\$ 500,000
								MED EXP (Any one person)	\$ 15,000
								PERSONAL & ADV INJURY	\$ 1,000,000
	GEN	N'L AGGREGATE LIMIT APPLIES PER:						GENERAL AGGREGATE	\$2,000,000
		POLICY X PRO- JECT LOC						PRODUCTS - COMP/OP AGG	\$2,000,000
		OTHER:							\$
В	AUT	OMOBILE LIABILITY			6080741791	5/15/2022	5/15/2023	COMBINED SINGLE LIMIT (Ea accident)	\$1,000,000
	Χ	ANY AUTO						BODILY INJURY (Per person)	\$
		OWNED SCHEDULED AUTOS ONLY						BODILY INJURY (Per accident)	\$
	Х	HIRED X NON-OWNED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$
									\$
В	Х	UMBRELLA LIAB X OCCUR			6080742438	5/15/2022	5/15/2023	EACH OCCURRENCE	\$ 5,000,000
		EXCESS LIAB CLAIMS-MADE						AGGREGATE	\$ 5,000,000
		DED X RETENTION \$ 10,000							\$
	C WORKERS COMPENSATION AND EMPLOYERS' LIABILITY ANYPROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH)				WC680742150	5/15/2022	5/15/2023	X PER OTH-	
			N/A					E.L. EACH ACCIDENT	\$ 1,000,000
								E.L. DISEASE - EA EMPLOYEE	\$ 1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT	\$ 1,000,000
DESC	RIPT	ION OF OPERATIONS / LOCATIONS / VEHIC	LES (A	CORD	101, Additional Remarks Schedule, may be	e attached if more	e space is require	ed)	
I									

CERTIFICATE HOLDER	CANCELLATION
State of WV	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
1900 Kanawha Blvd Blvd E Bldg 5 Charleston WV 25305	AUTHORIZED REPRESENTATIVE Nicholas & Hylant